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POLYNOMIALS AND FACTORISATION

Example

1.  Find  Which among

 becomes the 0 of  ?

Watch Video Solution

p(x) = x + 2. p(1), p(2), p( − 1) and p( − 2).

1, 2, − 1 and − 2 p(x)

2. Find zero of the polynomial

Watch Video Solution

p(x) = 3x + 1

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_08s5JwJfik1j
https://dl.doubtnut.com/l/_VhQSW9ZqXJVV


3. Find zero of the polynomial 

Watch Video Solution

2x − 1.

4. Verify whether 2 and 1 are zeros of the polynomial  or

not ?

Watch Video Solution

x2 − 3x + 2

5. If 3 is a zero of the polynomial  then find a.

Watch Video Solution

x2 + 2x − a,

6. Divide 

Watch Video Solution

3x2 + x − 1byx + 1

https://dl.doubtnut.com/l/_gCz0jmdVkAr1
https://dl.doubtnut.com/l/_0LrSQPYLhNbP
https://dl.doubtnut.com/l/_vAKJTWHOLR3e
https://dl.doubtnut.com/l/_3J5g7CdwRT0R
https://dl.doubtnut.com/l/_z1hA9AL4KiBn


7. Divide the polynomial 

Watch Video Solution

2x4 − 4x3 − 3x − 1

8. Find the remainder when  devided by 

Watch Video Solution

x3 + 1 (x + 1)

9. Check whether  is a factor of 

Watch Video Solution

(x − 2) x3 − 2x2 − 5x + 4

10. Check whether the polynomial  is a

multiple of 

Watch Video Solution

p(y) = 4y3 + 4y2 − y − 1

(2y + 1).

https://dl.doubtnut.com/l/_z1hA9AL4KiBn
https://dl.doubtnut.com/l/_0ZTFdC46jFJV
https://dl.doubtnut.com/l/_msYakce4vJgi
https://dl.doubtnut.com/l/_1UCEnCXZiq3w


11. If the polynomials  arfe divided

by  leave the same remainder, find the value of a.

Watch Video Solution

ax3 + 3x2 − 13 and 2x3 − 5x + a

(x − 2)

12. Examine whether  is a factor of

Watch Video Solution

x + 2 x3 + 2x2 + 3x + 6

13. Find the Factor Theorem,  is a factor of 

Watch Video Solution

x + 2 x3 + 2x2 + 3x + 6.

14. Show that  is a factor of  and also of 

Watch Video Solution

(x − 1) x10 − 1 x11 − 1.

https://dl.doubtnut.com/l/_LeTZWfuDiBop
https://dl.doubtnut.com/l/_owmKaOUXYFwA
https://dl.doubtnut.com/l/_MXGdX2UxxpST
https://dl.doubtnut.com/l/_JKRKM9QPHy9q
https://dl.doubtnut.com/l/_zs7SXtEK6wfY


15. Factorise 

Watch Video Solution

3x2 + 11x + 6

16. Verify whether  is divisible by 

 or not ? 


How can you verify using Factor Theorem ?

Watch Video Solution

2x4 − 6x3 + 3x2 + 3x − 2

x2 − 3x + 2

17. Factorise 

Watch Video Solution

x3 − 23x2 + 142x − 120

18. Fractorise 

(i)  


(ii)  


x2 + 5x + 4

9x2 − 25

https://dl.doubtnut.com/l/_zs7SXtEK6wfY
https://dl.doubtnut.com/l/_LHErSJk1FVXy
https://dl.doubtnut.com/l/_npEHssGkqzA7
https://dl.doubtnut.com/l/_CqGFZErygupJ


(iii)  


(iv) 

Watch Video Solution

25a2 + 40ab + 16b2

49x2 − 112xy + 64y2

19. Find  using identity.

Watch Video Solution

(2a + 3b + 5)2

20. Find the product of 

Watch Video Solution

(5x − y + z)(5x − y + z)

21. Factorise 

Watch Video Solution

4x2 + 9y2 + 25z2 − 12xy − 30yz + 20zx

https://dl.doubtnut.com/l/_CqGFZErygupJ
https://dl.doubtnut.com/l/_Nzb0gZKcEt1z
https://dl.doubtnut.com/l/_Rj4mev2NzAVY
https://dl.doubtnut.com/l/_ROWCKY3WKZ7y


22. Write the following cubes in the expended from 

(i)  


(ii) 

Watch Video Solution

(2a + 3b)3

(2p − 5)3

23. Evaluate each of the following using suitable identities 

(i)  


(ii)

Watch Video Solution

(103)3

(99)3

24. Factorise 

Watch Video Solution

8x3 + 36x2y + 54xy2 + 27y3.

https://dl.doubtnut.com/l/_HIcfRIsET8DK
https://dl.doubtnut.com/l/_o7cEwwLBULHB
https://dl.doubtnut.com/l/_hFnoWfXZS4vZ


Exercise 2 1

25. Find the product 

Watch Video Solution

(2a + b + c)(4a2 + b2 + c2 − 2ab − bc − 2ca)

26. Fractorise 

Watch Video Solution

a3 − 8b3 − 64c3 − 24abc

27. Give possible values for length and breadth of the rectangle whose

area is 

Watch Video Solution

2x2 + 9x − 5.

https://dl.doubtnut.com/l/_enERQ0S7eDEM
https://dl.doubtnut.com/l/_nvYKnEnUMxLf
https://dl.doubtnut.com/l/_WKzrWsTQ9PSK


1. Find the degree of each of the polynomials given below 

 


(ii)  


(iii)  

(iv)  


(v)  


(vi) 

Watch Video Solution

(i)x5 − x4 + 3

x2 + x − 5

5

3x6 + 6y3 − 7

4 − y2

5t − √3

2. Which of the following expressions are polynomials in one variable

and which are not ? Give reasons for you answer. 

(i)  


(ii)  


(iii)  

(iv)  


3x2 − 2x + 5

x2 + √2

p2 − 3p + q

y + (y ≠ 0)
2

y

https://dl.doubtnut.com/l/_MCtepZHumvh8
https://dl.doubtnut.com/l/_G76kGSMYdBwU


(v)  


(vi) 

Watch Video Solution

5√x + x√5

x100 + y100

3. Write the coefficient of  in each of the following 


 


(ii)  


(iii)  


(iv)  


(v)  


(vi)  


(vii)  


(viii) 4

Watch Video Solution

x3

(i)x3 + x + 1

2 − x3 + x2

√2x3 + 5

2x3 + 5

x3 + x
π

2

− x32

3

2x2 + 5

https://dl.doubtnut.com/l/_G76kGSMYdBwU
https://dl.doubtnut.com/l/_jdEeNsqkm1sj


4. Classify the following as linear, quadratic and cubic polynomials 

(i)  


(ii)  


(iii)  


(iv)  


(v) 3p 

(vi) 

Watch Video Solution

5x2 + x − 7

x − x3

x2 + x + 4

x − 1

πr2

5. Write whether the following statements are True or False. Justify

your answer 

(i) A binomial has two terms 

(ii) Every polynomial is a binomial 

(iii) A binomial may have degree 3 

(iv) Degree of zero polynomial is zero 

https://dl.doubtnut.com/l/_sG9Th3CbHohe
https://dl.doubtnut.com/l/_c4dgHDGrawV0


Exercise 2 2

(v) The degree of  is 2 


(vi)  is a monomial.

Watch Video Solution

x2 + 2xy + y2

πr2

6. Give one example each of a monomial and trinomial of degree 10.

Watch Video Solution

1. Find the value of the polynomial  at 


(i)  


(ii)  


(iii)  


(iv) 

Watch Video Solution

4x2 − 5x + 3,

x = 0

x = − 1

x = 2

x =
1

2

https://dl.doubtnut.com/l/_c4dgHDGrawV0
https://dl.doubtnut.com/l/_uGrXxpBoiKhK
https://dl.doubtnut.com/l/_21hf0wEffu6p


2. Find  for each of the following polynomials. 


(i)  

(ii)  


(iii)  


(iii)  


(iv)  


(v) 

Watch Video Solution

p(0)p, (1) and p(2)

p(x) = x2 − x + 1

p(z) = z3

p(y) = 2 + y + 2y2 − y3

p(z) = z3

p(t) = (t − 1)(t + 1)

p(x) = x2 − 3x + 2

3. Verify whether the values of x given in each case are the zeroes of

the polynomial or not ? 

(i)  


(ii)  

(iii)  


(iv)  


(v)  


p(x) = 2x + 1, x = −
1

2

p(x) = 5x − π, x =
−3

2

p(x) = x2 − 1, x = ± 1

p(x) = (x − 1)(x + 2), x = − 1, k − 2

p(y) = y2, y = 0

https://dl.doubtnut.com/l/_UKztdbbK3q1X
https://dl.doubtnut.com/l/_PajPB3UjenZE


(vi )  


(vii)  


(viii) 

Watch Video Solution

p(x) = ax + b, x = −
b

a

f(x) = 3x2 − 1, x = − ,
1

√3

2

√3

f(x) = 2x − 1, x = ,
1

2

−1

2

4. Find the zero of the polynomial in each of the following cases. 

(i)  


(ii)  


(iii)  


(iv)  


(v)  

(vi)  


(vii)  are real numbers.

Watch Video Solution

f(x) = x + 2

f(x) = x − 2

f(x) = 2x + 3

f(x) = 2x − 3

f(x) = x2

f(x) = px, p ≠ 0

f(x) = px + q, p ≠ 0pq

https://dl.doubtnut.com/l/_PajPB3UjenZE
https://dl.doubtnut.com/l/_1Q0XfpyJ5MZF


Exercise 2 3

5. If 2 is a zero of the polynomial  then find the

value of a.

Watch Video Solution

p(x) = 2x2 − 3x + 7a,

6. If 0 and 1 are the zeroes of the polynomial

 then find the values of a and b.

Watch Video Solution

f(x) = 2x3 − 3x2 + ax + b,

1. Find the remainder when  is divided by the

following Linear polynomials: 

(i)  


(ii)  


(iii)  

x3 + 3x2 + 3x + 1

x + 1

x −
1

2

x

https://dl.doubtnut.com/l/_1WD9nkDSwd59
https://dl.doubtnut.com/l/_ECGjdZjydPMI
https://dl.doubtnut.com/l/_p2N54nlP9ev9


(iv)  


(v) 

Watch Video Solution

x + π

5 + 2x

2. Find the remainder when  is divided by 

Watch Video Solution

x3 − px2 + 6x − p x − p.

3. Find the remainder when  is divided  Does it

exactly divided the polynomial ? State reason.

Watch Video Solution

2x2 − 3x + 5 2x − 3.

4. Find the remainder when  is divided by : 

Watch Video Solution

x3 + 3x2 + 3x + 1

x −
1

2

https://dl.doubtnut.com/l/_p2N54nlP9ev9
https://dl.doubtnut.com/l/_b40gHF7ykAQB
https://dl.doubtnut.com/l/_g6w8jRAnnuVP
https://dl.doubtnut.com/l/_C0KJE6KtCVGi


5. If the polynomials 

leave the same remainder when divided by  find te value of a.

Watch Video Solution

2x3 + ax2 + 3x − 5 and x3 + x2 − 4x + a

x − 2,

6. If the polynomials  are divided by 

 leave the same remainder. Find the value of a.

Watch Video Solution

x3 + ax2 + 5 and x3 − 2x2 + a

(x + 2)

7. Find the remainder when  is divided by 

 and verify the result by actual division .

Watch Video Solution

f(x) = x4 − 3x2 + 4

g(x) = x − 2

https://dl.doubtnut.com/l/_C0KJE6KtCVGi
https://dl.doubtnut.com/l/_9YKC19Fsk9Bx
https://dl.doubtnut.com/l/_lWjWw6n7IBkJ
https://dl.doubtnut.com/l/_mD9Xcj1ySoRz


Exercise 2 4

8. Find the remainder when  is divided b y 

 verify the result by long division.

Watch Video Solution

p(x) = x3 − 6x2 + 14x − 3

g(x) = 1 − 2x and

9. When a polynomial  is divided by  leaves

remainder 2, and  leaves remainder -2. Find a and b.

Watch Video Solution

2x3 + 3x2 + ax + b (x − 2)

(x + 2)

1. Determine which of the following polynomials has  as a

factor. 

(i)  


(ii)  


(x + 1)

x3 − x2 − x + 1

x4 − x3 + x2 − x + 1

https://dl.doubtnut.com/l/_ts5km8qOhGsZ
https://dl.doubtnut.com/l/_SlFFpj84aAkM
https://dl.doubtnut.com/l/_AUM4ly8PPuAL


(iii)  


(iv) 

Watch Video Solution

x4 + 2x3 + 2x2 + x + 1

x3 − x2 − (3 − √3)x + √3

2. Use the Factor Theorem to determine whether g (x) is factor of f(x)

in each of the following cases: 

(i)  


(ii)  


(iii)  


(iv)  


(v) 

Watch Video Solution

f(x) = 5x3 + x2 − 5x − 1, g(x) = x + 1

f(x) = x3 + 3x2 + 3x + 1, g(x) = x + 1

f(x) = x3 − 4x2 + x + 6, g(x) = x − 2

f(x) = 3x3 − 20x + 12, g(x) = 3x − 2

f(x) = 4x3 + 20x2 + 33x + 18, g(x) = 2x + 3

3. Show that  are factors of 

Watch Video Solution

(x − 2), (x + 3) and (x − 4)

x3 − 3x2 − 10x + 24.

https://dl.doubtnut.com/l/_AUM4ly8PPuAL
https://dl.doubtnut.com/l/_Eml6DZ6ICmqU
https://dl.doubtnut.com/l/_ZNlMXgWZGuUg


4. Show that  are factors of 

Watch Video Solution

(x + 4), (x − 3) and (x − 7)

x3 − 6x2 − 19x + 84.

5. If both  are fractors of  then

show that p=r.

Watch Video Solution

(x − 2) and (x − )
1

2
px2 − 5x + r,

6. If  is a factor of  then show

that 

Watch Video Solution

(x2 − 1) ax4 + bx3 + cx2 + dx + e,

a + c + e = d + d = 0

https://dl.doubtnut.com/l/_ZNlMXgWZGuUg
https://dl.doubtnut.com/l/_eLaI3acVLA9H
https://dl.doubtnut.com/l/_xFVlENB0EzXr
https://dl.doubtnut.com/l/_kFHYroz6wusy


7. Factorise  


(ii)  


(iii)  


(iv) 

Watch Video Solution

(i)x2 − 2x2 − x + 2

x3 − 3x2 − 9x − 5

x3 + 13x2 + 32x + 20

y3 + y2 − y − 1

8. If  have a common factor 

then show that 

Watch Video Solution

ax2 + bx + c and bx2 + ax + c x + 1

c = 0 and a = b.

9. If  have a common factor 

then find the value of a.

Watch Video Solution

x2 − x − 6 and x2 + 3x − 18 (x − a)

https://dl.doubtnut.com/l/_lCljhlVrQ3d1
https://dl.doubtnut.com/l/_gGTgbYKz00X8
https://dl.doubtnut.com/l/_rv81BOSurGO7


Exercise 2 5

10. If  is a factor of  then find the other two

factors.

Watch Video Solution

(y − 3) y3 − 2y2 − 9y + 18

1. Use suitable idntities to find the following products 

(i)  


(ii)  


(iii)  

(iv)  

(v) 

Watch Video Solution

(x + 5)(x + 2)

(x − 5)(x − 5)

(3x + 3)(3x − 2)

(x2 + )(x2 − )
1

x2

1

x2

(1 + x)(1 + x)

https://dl.doubtnut.com/l/_ziVKazY6tbM7
https://dl.doubtnut.com/l/_VBpo4C9hRDHW


2. Evaluate the following products without actual multiplication. 

(i)  


(ii)  


(iii)  


(iii)  


(iv)

Watch Video Solution

101 × 99

999 × 999

50 × 49
1

2

1

2

501 × 501

30.5 × 29.5

3. Factorise the following using appropriate identities. 

(i)  


(ii)  


(iii)  


(iv)  


(v)  


(vi) 

Watch Video Solution

16x2 + 24xy + 9y2

4y2 − 4y + 1

4x2 −
y2

25

18a2 − 50

x2 + 5x + 6

3p2 − 24p + 36

https://dl.doubtnut.com/l/_19b9AtPtHJoh
https://dl.doubtnut.com/l/_SmGbI6UGpBky


4. Expand each of the following, using suitable identities 

(i)  


(ii)  


(iii)  


(iv)  


(v)  


(vi) 

Watch Video Solution

(x + 2y + 4z)
2

(2a − 3b)
3

( − 2a + 5b − 3c)
2

( − + 1)
2

a

4
b

2

(p + 1)3

(x − y)
3

2

3

5. Factories 

 


Watch Video Solution

(i)25x2 + 16y2 + 4z2 − 40xy + 16xy − 20xy

(ii)9a2 + 4b2 + 16c2 + 12ab − 16bc − 24ca

https://dl.doubtnut.com/l/_SmGbI6UGpBky
https://dl.doubtnut.com/l/_FIyp1n27xKWU
https://dl.doubtnut.com/l/_EA001OUUnViX


6. If  then find 

Watch Video Solution

a + b + c = 9 and ab + bc + ca = 26, a2 + b2 + c2.

7. Evaluate the following using suitable identites. 

(i) 

Watch Video Solution

(99)3   (ii)(102)3    (iii)(998)3    (iv)(1001)3

8. Factorise each of the following 

 


(ii)  


(iii)  


(iv) 

Watch Video Solution

(i)8a3 + b3 + 12a2 + 6ab2

8a3 − b3 − 12a2b + 6ab2

1 − 64a3 − 12a + 48a2

8p3 − p2 + p −
12

5

6

25

1

125

https://dl.doubtnut.com/l/_2B9KbDgaDEvf
https://dl.doubtnut.com/l/_9FxRcgFIPv8m
https://dl.doubtnut.com/l/_dc9HlQ4Huawo


9. Verify 

(i)  


(ii)  


using some non-zone positive integers and check by actual

multiplication. Can you call these as identities ?

Watch Video Solution

x3 + y3 = (x + y)(x2 − xy + y2)

x3 − y3 = (x − y)(x2 + xy + y2)

10. Faactorise 

(i)  


(ii)  using the above results.

Watch Video Solution

27a3 + 64b3

343y3 − 1000

11. Factorise  using identitiy.

Watch Video Solution

27x3 + y3 + z3 − 9xyz

https://dl.doubtnut.com/l/_KrhLJhhlgrG7
https://dl.doubtnut.com/l/_CjE1plhIGIJR
https://dl.doubtnut.com/l/_44y28mxm3Vup


12. Verify that

Watch Video Solution

x3 + y3 + z3 − 3xyz = (x + y + z)[(x − y)2 + (y − z)2 + (z − x)2]
1

2

13. (a)  show that  


(b) Show that

Watch Video Solution

Ifx + y + z = 0, x3 + y3 + z3 = 3xyz.

(a − b)3 + (b − c)3 + (c − a)3 = 3(a − b)(b − c)(c − a)

14. Without actual calculating the cubes, find the vlaue of each of the

following 

(i)  


(ii)  


(iii)  


(iv) 

( − 10)3 + (7)3 + (3)3

(28)3 + ( − 15)3 + ( − 13)3

( )
3

+ ( )
3

− ( )
3

1
2

1

3

5

6

(0.2)
3

− (0.3)
3

+ (0.1)
3

https://dl.doubtnut.com/l/_U1zJoJlOiEhp
https://dl.doubtnut.com/l/_R6e5Yd35UzpI
https://dl.doubtnut.com/l/_GXwwbhUA4HmK


Watch Video Solution

15. Gi ven possible expressions for the length and breadth of the

rectangle whose area is given by 

(i)  


(ii)

Watch Video Solution

4a2 + 4a − 3

25a2 − 35a + 12

16. What are the possible polynomial expressions for the dimensions

of the cuboids whose volumes are given below ? 

(i)  


(ii)

Watch Video Solution

3x2 − 12x

12y2 + 8y − 20.

17. If  then show that 2(a2 + b2) = (a + b)2, a = b

https://dl.doubtnut.com/l/_GXwwbhUA4HmK
https://dl.doubtnut.com/l/_oRRWcCIW4Iaj
https://dl.doubtnut.com/l/_qi3uj4cBodmr
https://dl.doubtnut.com/l/_JYct97QJ1csd


Think Discuss And Write

Watch Video Solution

1. Which of the following expressions are polynomias ? Which are not?

Give reasons. 

(i)  


(ii)  


(iii)5 

(iv)  

(v)  


(vi  


(vii)  

(viii) 3 xyz

Watch Video Solution

4x2 + 5x − 2

y2 − 8

2x2 + − 5
3

x

√3x2 + 5y

+ 1(x ≠ 0)
1

x

√x

https://dl.doubtnut.com/l/_JYct97QJ1csd
https://dl.doubtnut.com/l/_4J4J8YWfGWBm


Do These

2. Can you tell the number of zeroes of a polynomials of  degree ?

Watch Video Solution

nth

1. Write three polynomials with variable 'y'

Watch Video Solution

2. Is the polynomial  in one variable ?

Watch Video Solution

2x2 + 3xy + 5y2

3. Write the formulae of area and volume of different solid shapes.

Find out the variables and constants in them.

https://dl.doubtnut.com/l/_xXpXjS2XchNn
https://dl.doubtnut.com/l/_fgr1a6Ti6VpT
https://dl.doubtnut.com/l/_65hjDksoQlMY
https://dl.doubtnut.com/l/_0x0euDowJ8sE


Watch Video Solution

4. Write the degree of each of the following polynomials 

(i)  


(ii)  


(iii)  


(iv) 2 

(v) 

Watch Video Solution

7x3 + 5x2 + 2x − 6

7 − x + 3x2

5p − √3

−5xy2

5. Write the coefficient of  in each of the following 


 


(ii)  


(iii)  


(iv)

Watch Video Solution

x2

(i)15 − 3x + 2x2

1 − x2

πx2 − 3x + 5

√2x2 + 5x − 1

https://dl.doubtnut.com/l/_0x0euDowJ8sE
https://dl.doubtnut.com/l/_9lkh1zYRAgjx
https://dl.doubtnut.com/l/_82UiG79zT3Gr


6. Find the vaoue of each of the folllowing polynomials for the

indicated value of variables: 

 


(ii)  


(iii)  


(iv)  


(v)  


(vii) 

Watch Video Solution

(i)p(x) = 4x2 − 3x + 7atx = 1

q(y) = 2y3 − 4y + √11aty = 1

r(t) = 4t4 + 3t3 − t2 + 6att = p, t ∈ R

s(z) = z3 − 1atz = 1

p(x) = 3x2 + 5x − 7atx = 1

q(z) = 5z3 − 4z + √2atz = 2

7. Find the blanks: 

https://dl.doubtnut.com/l/_r0LlnJTQwzuR
https://dl.doubtnut.com/l/_nk7RdxVyNx9j


Watch Video Solution

8. Divide  by 'y' and write division fact

Watch Video Solution

3y3 + 2y2 + y

9. Divide  by '2p' and write division fact.

Watch Video Solution

4p2 + 2p + 2

10. Fractorise the following 

(i) 

Watch Video Solution

6x2 + 19x + 15

11. 10m2 − 31m − 132 = 0

https://dl.doubtnut.com/l/_nk7RdxVyNx9j
https://dl.doubtnut.com/l/_CojU0DP6UznL
https://dl.doubtnut.com/l/_3OBOVDwxp5YI
https://dl.doubtnut.com/l/_co3QCJsree0y
https://dl.doubtnut.com/l/_fZzjg2S8zGYD


Watch Video Solution

12. 

Watch Video Solution

12x2 + 11x + 2

13. Find the following using appropriate identities 

(i)  


(ii)  


(iii)  


(iv)  


(v)  


(vi) 

Watch Video Solution

(x + 5)(x + 5)

(p − 3)(p + 3)

(y − 1)(y − 1)

(t + 2)(t + 4)

102 × 98

(x + 1)(x + 2)(x + 3)

https://dl.doubtnut.com/l/_fZzjg2S8zGYD
https://dl.doubtnut.com/l/_yyLmwuCPlj6S
https://dl.doubtnut.com/l/_1EM4wqyeDr8i


14. Factorise the following using appropriate identities 

 


(ii)  


(iii)  


(iv)

Watch Video Solution

(i)49a2 + 70ab + 25b2

x2 −
9

16

y2

9

t2 − 2t + 1

x2 + 3x + 2

15. Write  in expanded from.

Watch Video Solution

(p + 2q + r)
2

16. Expand  using identity

Watch Video Solution

(4x − 2y − 3z)
2

https://dl.doubtnut.com/l/_9OVosNidnmrf
https://dl.doubtnut.com/l/_yQ31rrpuMsrq
https://dl.doubtnut.com/l/_yjRwGz0I1Zzi


17. Fractorise  using suitable identity.

Watch Video Solution

4a2 + b2 + c2 − 4ab + 2bc − 4ca

18. Expand  using an identity

Watch Video Solution

(x + 1)3

19. Compute 

Watch Video Solution

(3m − 2n)3

20. Factorise 

Watch Video Solution

a3 − 3a2b + 3ab2 − b3

https://dl.doubtnut.com/l/_iDW9fmmjUiF6
https://dl.doubtnut.com/l/_w9oRbhOzUeyv
https://dl.doubtnut.com/l/_cbPz4wBvLYLT
https://dl.doubtnut.com/l/_8BqhkJT8kxER


Try These

21. Find the proudct 

without actual multiplication.

Watch Video Solution

(a − b − c)(a2 + b2 + c2 − ab + bc − ca)

22. Fractorise  abc using identity.

Watch Video Solution

27a3 + b3 + 8c3 − 18

1. Write a polynomial with 2 terms in variable x.

Watch Video Solution

2. Hoe can you write a polynomial with 15 terms in variable p ?

https://dl.doubtnut.com/l/_tOsBvBrwL2iP
https://dl.doubtnut.com/l/_BchyCdfc1RPL
https://dl.doubtnut.com/l/_3WWtPf8EQrLj
https://dl.doubtnut.com/l/_1rG4Lvw7rF4x


Watch Video Solution

3. Find zeroes of the following polynomals 

(i)  


(ii)  


(iii) 

Watch Video Solution

2x − 3

x2 − 5x + 6

x + 5

4. Show that  is a factor of 

Watch Video Solution

(x − 1) xn − 1.

5. How can you find  without actual multiplication? 


Verify with actual multiplication.

Watch Video Solution

(x − y)3

https://dl.doubtnut.com/l/_1rG4Lvw7rF4x
https://dl.doubtnut.com/l/_DLi49re6Jtsi
https://dl.doubtnut.com/l/_WnGliwi20Wpf
https://dl.doubtnut.com/l/_XNIgSeLauVMC



